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END SEMESTER EXAMINATION-2022
Semester ; st
Branch : Common
Subject Code : SC-104
PHYSICS
Full Marks — 70
Time — Three hours

The ﬁgurés in the margin indicate full marks
- for the questions.

Instruction : -

All questions of PART—-A and Part —B are compulsory.-

PART—A ' =
Marks—-25
1 Fill in the blanks : | 1x10=10

(i) The dimensional formula of Gravitational
constant ((3) is '

(ii) The significant figure of the mecasured length
of 0.0560 is
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~ (b) When a body moves on a circular path, the

direction of velocity changes and motion is
accelerated. Name the physical quantity

- which remains constant while moving along

(©)

@
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a circular path.

(i) kinetic energy

(i) torque: |

(ii1)) moment of inertia

(iv) centripetal acceleratlon.

Two wires A and B are of the same length
The diameters are in the ratio 1:2 and the
Young’s modulus is in the ratio 2:1. If they
are pulled by the same force then their

elongation will be in the ratio

@) 1:2 iy 23

(iii) 4:1 - - (iv) 1:4 |

Pressure at any point inside a liquid is
(i) directly .pmplcfrtional to density

(ii) inversely pmportional to density

(iii) directly proportional to volume

(iv) inversely proportional to the temperature
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" (e) In a pressure cooker the vegetables can pe
cooked in a lesser time because water in the
cooker is at a temperature

(i) less than 100°C
(i) equal to 100°C
(iii) greater than 100°C

(iv) None of the above

(f) A thermometer when put in a water bath of
27°C reads 300. The scale of thermometer is
(i) Reaumur (ii) Fahrenheit

(iii) Kelvin (iv) Faulty thermometer

(g) When the listener approaches the source of
sound, the 'pitch ‘of sound

(i) increases
(i1) decreases
(1i1) remains the same

(iv) varies with external factors

(h) When water is heated from 0°C to 100°C, it’s
volume

(1) increases
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(i)

(i) first increases then decreases

(iii) decreases

(iv) first decreases then increases

In a hydraulic press, the piston of pump as
compared to press plungers

(i) should have same radius

- (11) should have srﬁaller radius

@

(iii) should have larger radius

(iv) may be equal or smaller

Application of elast%city includes

(i) Selection of material for high pressure
tools

(ii) Strength of ropes
(iii) Safety of bridges
(iv) All of the above

Write true or false : 1x5=35

(i) The atmospheric pressure acts not only the

earth surface but over the surface of all
objects including human on the earth.
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8= (a) 4)
(i1)

-0

(i)

(1)

@)
(ii)

Define Coefficient of linear expansion.

Why docs the temperature remain
constant till the whole of the solid has
melted. 1+1=2

State Joules law of heating and hence
define mechanical equivalent of heat.

Why are handles of cooking utensils not
made of metallic substances ? 2+2=4

Define Calorie. |

90 gm of mercury at 100°C is mixed
with 100 gm of water at 20°C. If the
resulting temperature is 22°C, what is
specific heat capacity of mercury ?

' 1+2=3

- Or
Define heat.

The volume of a metallic ball is 100c.c
at 0°C and 100.85c.c at 100°C. Calculate

the coefficient of linear expansion.
1+8=9
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